[(SEEHM-1IEERBFFRE—K BRI
K TROBMEG, HETEBERAL FTCOSEBELTRTLOTHS.

W& kb CCADEREVE— CELRT
AfE | JbfE [fEIRES| PET | stim | B | U [FR—)L| & | A | L& MR [ JkfE | PP FREE
F1EBRR [ZE] 151 28 53 23 127 9 0 1 7 69 0 2 16 4 94
E2EMBR [ZE] 2 0 0 0 0 0 0 0 0 0 0 0 0 0
EIEHRR [ZE] 9 0 0 0 0 0 0 0 0 24 0 0 0 0 0
i1t
® | RRH EXA 23 9 46 3 127 7 0 1 7 24 0 1 9 4 36
=5 S
= |[EXEMKE [&] 23 8 43 2 0 7 0 1 7 33 0 1 9 4 36
RAS [&] 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R [B] 4 3 3 0 0 0 0 0 0 0 0 0 0 0 0
T [&] 8 10 0 4 0 0 0 0 0 0 0 0 0 0 0
AEE [&] 4 2 2 0 0 0 0 0 0 0 0 0 0 0 0
& RO (4 ATl 3 0 0 0 0 6 5 0 0 0 3 0 0 0 5
E AN [ Fr] 3 0 0 0 0 6 5 0 0 0 3 0 0 0 5
B |ERBRSERE [&] 3 0 0 0 0 6 5 0 0 0 3 0 0 0 5
= P AT (4 ATl 241 24 84 63 0 0 0 0 124 73 3 4 31 0 114
WMEEERZT DI x| X KX KX| X[ | KX KX K| K[| KX HKX]| =R
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BEIE X fil

BEmE CCANDEEREZ— —EBREME
AfE | dbfE [7EIR=5| PET | fim | B3 | U/ |d—JL| B | R | LB MR | JkfE [ PP | FHEE
BEIEH [&] 2 2 3 3 3
BEEO [#Pr] 50 15 61 25 14
BE1E R E [4Ffr] 10 7 21 9 7
MK 78— [#Pfr] 5 4 19 15 15
EEApc3ES (& Fr] 0 0 0 1 1
BREEEKE [&] 0 1 0 0 0
(5EEH—SRERHSHE—E FEARELE
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HBEmE CCADNEEREZ— —EH R
AfE | JLEE ﬁia%%- PET | im | B [ U [A—JL| FE | g | L MR | dtfE | PP | FEEE
JEE FEREAR [XT] 1,310 263 336 124 599 345 81 22 313 591 105 4 160 24 538
HE R R E [#AF] | 1,310 263 336 124 599 122 45 8 110 591 105 4 160 24 538
AEREEM [&] 1 1 1 1 1
BREEEE [&] 1 1 1 1 1




